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Note:i)  All questions are compulsory.
i)  Marks allotted to each question are indicated against it.
iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C) and
(D). out of which one is most appropriate. Choose the correct answer among the
four alternatives and write it in your answer-book against the number of the ques-
tion. No extra time is allotted for attempting multiple choice questions.
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1. Normative economics deals with : (1]
(A) Whatis? @) What should be?
(C) What has happened in the past? (D) Whatis likely to happen in future
ST AV FEET HOTTA HA 7
(A) wm@? (B) @m g afge?

(C) vita & @ g en? (D) wfarea & = g & wwra @2

2. The measure of Central tendency around which maximum concentration of items

occurs Is: (1)
(A) Mean (B) Median

(©Y Mode (D) Quartile

e waft @ wg e fred T e st g, g d

(A) W= (B) wifera

(C) wwe (D) weiw
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3. The general relationship between price and demand is referred to as the following

i 1
type of correlation ; in (1]
(A) Positive (B)” Negative
(C) Linear (D) Perfect
dhvem 3 i & dra wg W Peefefen wen w i sgem b
(A) wATEE (B) oo
(C) Yow (D) qui

4. Total utility of 2 units of a good is 9 utils and that of 5 units is 18 units. What is
marginal utility of 5 units, [1)

2 B) 3 if"
) ®) 3 #%
(€) 36 U 9

o @ A yed @ F@ vt 9 gfem @ el S @ 18 gfem R 1 S v ) dita
Iuaifiven @m 2

(A) 2 (B) 3
©) 36 D) 9
5. The basic economic activity is: [1]

(A) Production

(B) Consumption

(C) Capital formation
(D}/ All the above
YR sfde ufem ag 2
(A) v

(B) uum

(C) Yo Fmion

(D) 3w =i
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6. Shortrun production function shows the changes in total output when: 1)
(Y Only one input is increased
(B) Only two inputs are increased
(C) Only few inputs are increased o
(D) All inputs are increased @R
HETEHTHAA FATEA F T TeareA | uftada faardh @ wm
(A) %== v s | gfg @ wm
(B) %=m A st | gfg #t wm |
(C) == %o smm | gfg &t = |
(D) =t sl & gfg & v |

7. Markets in microeconomics are classified on the basis of : 1]
(A) Number of firms
(B) Differences in products produced by different firms
(C) Freedom of entry and exit to firms
(D7~ All the above
= sredvma & AR @ 3E UR W FHiga e A 2
(A) o EEn
(B) faftra wai g senfem seami @ fafvsm
(C) wHl & T 7 afgrma & e

(D) Zuas A

8. Which of the following is primary function of money. 1]
(A) Store of value (g}' Measure of value
(C) Transfer of value (D) Standard of deferred payment
frefafen 8 | F@ @ 521 @ safes w6 27
(A) 3 % EE (B) g3 @ "o
(C) o3 & TR (D) wafa yam & 9HE
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9. GNP, equals:

(A) National income

(B) NNP,_ + depreciation
(G)/ National income + depreciation + net Indirect Tax
(D) NNP, + net indirect Tax

TSR qF9 R W T I §EE WEE

(A) w<fm ama ﬁg

(B) R w1 W e T 3 + geaem
(C) a3 + grawm + fram smmm

(D) =R gea w fram v a4+ fram sweas =

10. Consumption depends upon :

(A) Saving (B) Investment

(€)Y Income (D) None of the above
IoUm 3W W fasi @ R

(A) ==m (B) fram

(C) 3m

(D) 390+ & |+ 77

y/.’Giving an example explain how economic
'unlimited wants'.

mmm%‘mﬁﬁaﬁrﬁ'%mmﬁhmﬁﬂmﬁa%l

J/Z./lndex numbers are economic barometers. Explain how?
HUFS AU Argaaea= 7 27 Ausmsn #347

13<Explain the meaning of correlation,
HEqay &1 3 quw |

Wn individual firm under perfect competition is price taker. Explain how

qui sifeaferen & s sraeht o Frm e g 2 | a9

lﬁ/Show that average revenue of a product is also the price of the product.

Frarzn &% fort 3eame @1 siem smm v i o B
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(1]

problem arises in an economy due to

3]

(3]
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y Explain how demand for a given good is affected by change in prices of substitute
goods. [3]
agey e fdt 7 & o 35 wamTem e § Fioat d o e Sa ot e

Vl/?./ Define production possibilities curve. State its two properties. [3]
TR WA W i oA A | e 3t Reand aam |

8. Explain store of value function of money [3]
T W Y EUE WA |

9. Distinguish between closed economy and open economy. [3]
2 srfsrEen 3 g srisEen § g St | o

L
20. Name three instruments of fiscal policy. [3]

Y

TaENg fifd & fi7 3gw T |

21. A consumer buys 50 units of a good at a price of Rs.6 per unit. When price rises, he
buys 25 units. Price elasticity of demand is (-) 1. Calculate the new price. (4]

6 . 97 3T T O TUWI U T i 50 396 @item # | 9@ dwa 7 A Az 25 39
TiT # | W i Fwa A (-) 13 | T S @ aiees S |

22. When price rises by one rupee, the quantity supplied by the producer rises from 80
units to 100 units. Price elasticity of supply is 2. Calculate the price before change. [4]

A | o . g T W U I gn A 80 39 @ @7 100 33 2t =t 2 | ofd
&1 Fw A 2 § | aftrda | gd ) Sa @ ofeem S |

- Distinguish between revenue expenditure and capital expenditure of government.
Give an example of each. 4]

WER F TAE =W 31 G =g | F FFC | Tl w1 v v e S |
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24. Calculate National income :

4
0) Gross national disposable income 600 !
i)  Subsidy 50

i) Consumption of fixed capital 100

iv)  Indirect Tax ~ 150

v)  Net current transfers from abroad 10

TéE A w AR fifa

) EEA T T @ 600

i) e T 50

i) A g w Ieum "Ei 100

V) STAR W= o 150

v) i | Fas e g 10

%/S/Distinguish between explicit cost and implicit cost. Give an example of each. [4]
e WA 3N FATTEA A § 37 941 | T F U U IEE i |

2 /E " . .
\/6: xplain ‘banker to the government' function of central bank. (4]
F2m T& F W@ T dHU T WA |

27. Calculate second quartile of wages (in Rs.) per hour [6]
110, 60, 105, 65, 100, 75, 70, 95, 90, 85, 80
Tz (.) ufa T21 =1 A wqds = ufwem St |
110, 60, 105, 65, 100, 75, 70, 95, 90, 85, 80

\Z/S/Given that MPC = 0.80 and investment increases by Rs. 200 crore,

calculate (a) value of multiplier and (b) increase in income. [6]
afz MPC = 0.80 % o fan 20)() Firz =, T2 A E A, (F) 0 F ged AR (W) IEd
afg # afteea FIAu |

29 Define supply. Explain how ‘prices of other goods' is a determinant of supply of
a good. Give example. (6]
gf# 1 afeamm Fife | wmzge mu@aﬁﬁﬁuﬁﬁa&a@ﬂqﬁmﬁmtﬁi |
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‘} Show that two indifference curves cannot intersect each other. Use diagram. [6]

4]

_ For blind candidates only in lieu of Q No. 30
g mﬁﬂwuﬂmﬁﬁtﬁqmmjﬂtwm

Explain why an indifference curve is (a) downward slopping and (b) convex.

AuETEU R T ST =% (a) 9 1 3R weEr 3R (b) TER F=

31. Calculate NNP

i) Private final consumption expenditure
i) Net-factor income from abroad
i)  Net exports

iv)  Net domestic capital formation

v)  Indirect Tax

vi)  Government final consumption expenditure
vii) Consumption of fixed capital

viii) Net current transfers from abroad
ix) Change in stocks

Xx)  Subsidy

NNP, @ uftae Hife

i) ffﬁﬁ e Tuvm =33

iy faeui @ faw s s o

i) fram FaEmE

iv) frae e e fmim

V)  HIEE E}"{‘j[il]L

vi) T sifm sovm wm @9

vil)  HEA g & IaEm

vili)  faror & fram = g

ix) iE ¥ uftEda

x) 3 werEm

j{.
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(Rs. crore) (6]

400
)3
() 10
80

50
100
30

20

)7

(02 %)
400
()5
(=) 10
80

50
100
30

20
=) 7
5

State 3 positional averages. Also state any three properties of arithmetic av?mge.lﬁl
3 feufa wadh siea aann | sEnfoda mea it e i aago |
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